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2. f(x)=[ P(x)coswx+ P,(x)sinwx |e** A
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y"+py’+qy=[B(x)cosa)x+Pn(x)sina)x]e“
A+iORFIEFER KER (kK =0, 1),
Ty A ™ = x" [Qm coswx + R sin a)x]ei >
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X, (De](t) + x, (1) (1) = 0

X, (D)ei (1) + X, () () = £(2)
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fE & x=c/(t)cost+c,(t)sint

c/(t)cost+cy(t)sint=0
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BB c()=- S { c, (1) =1

COS?

c,(t) = ln‘cost‘ﬂ/1 c,(t)=t+y,

B TEMEAEN x =y, cost+y,sin t+costln‘cost‘+tsin t
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2. f(x)=] B(x)cosmx+ P,(x)sinwx |e** &l

A+iORRIESFER KER (kK =0, 1),
Ty A ™ = x" [Qm cosx + R sin a)x] et

Hrep m=max{n,l}




	高等数学下
	目录
	待定系数法(2)
	待定系数法(2)
	常数变易法
	常数变易法
	常数变易法
	内容小结

